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Arsuer ang Jlae qtestiors.

1. (a) Differentiate between the following :

' 2x5=10
0 Value tYPe and reference t5Pe

@ OLE and COM Technologr

lidrl String class and String Builder
class

(iv) ArraY and ArraY List class

(u) Break .Statement and Continue
Statement.
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(b) Defrne the following terms briefly :

2x5=10
0 Net technologr

(u) Copy constructor

/iid/ Namespace

/iul Framework base class

(u) Mutable strings.

(a) What are the benefits of .NET
approach? 5

Mention .;iue functions of Common
Language Runtime (CLR). s

What is an alias ? How can it be used ?
2+3=5

Why C# is known as type-safe ? 5

Briefly explain the Pillars OOp. 6

Write a program showing the
implementation of a constructor. s
Design a class to represent a bank
a@ount. Include the following me-b".1

Data members :

. Name of depositor

. Account number

2.

tnl

(c)

(d)

3. (a)

(b)

(c)
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. Account type

. Balance amount

Methods :

. To deposit an amount

. To withdraw an amount

. To display the name and balance

Write a program to perform the
operations mentioned in the methods.

Define output parameter. Give a
suitable program using output
parameter. 2+4=6

Write a method to check whether an
element is present in an array or not.

8

What is parameter
program showing the
array.

array ? Write a
use of parameter

2+4=6

(c)

(a)

(b)

(a)

5.

6.

Define compile time and run-time
polymorphism. Write a program for
each showing the implementation.

3\2+5x2=16

Write a program showing the use of a
constructor in structure. 4

What is method overriding ? Write a
program showing the implementation
of method overriding. 3+7=10
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7.

(b) Differentiate between class and
structure. 4

(c) Write a program that reads a line
of text containing three words and
replace all the blank spaces with an
underscore(-1. - 6

Write short notes on : (ang four)
(a) Multiple Inheritance

(b) Static constructor

(c) Method hiding

(d) Boxing and unboxing

(e) The .Net Framework

A Switch Statement.

5x4=2O
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